

NUMERICAL SOLUTION OF LR FUZZY HUNTER-SAXTON EQUATION BY USING HOMOTOPY ANALYSIS METHOD

Sh. Sadigh Behzadi^{1,†} and A.Yildirim^{2,3}

Abstract In this paper, a LR fuzzy Hunter-Saxton equation is solved by using the homotopy analysis method (HAM). The approximation solution of this equation is calculated in the form of series which its components are computed by applying a recursive relation. The existence and uniqueness of the solution and the convergence of the proposed method are proved. A numerical example is studied to demonstrate the accuracy of the presented method.

Keywords Hunter-Saxton equation, homotopy analysis method, fuzzy number, L-R fuzzy number, generalized differentiability, fuzzy-valued function, h -difference.

MSC(2000) 35A15,34B15,34C15.

1. Introduction

The Hunter-Saxton equation

$$u_{txx} \oplus 2 \odot u_x \odot u_{xx} \oplus u \odot u_{xxx} = 0, \quad t > 0. \quad (1.1)$$

Models the propagation of weakly nonlinear orientation waves in a massive nematic liquid crystal director field, x being the space variable in a reference frame moving with the unperturbed wave speed and t being a slow time variable [15]. In this work, we develop the HAM to solve the Eq.(1.1) with the LR fuzzy initial conditions as follows:

$$\begin{aligned} u(0, 0) &= (0, 0, 0), \\ u_{tx}(a, x) &= (2xe^{x^2}, e^x, -e^{-x}), \\ u_t(a, x) &= (2axe^{x^2}, ae^x, -ae^{-x}). \end{aligned} \quad (1.2)$$

The fuzzy exact solution is $u(x, t) = (xe^{t^2}, xe^t, xe^{-t})$.

The paper is organized as follows. In section 2, the homotopy analysis method is introduced for solving Eq.(1.1). Also, the existence and uniqueness of the solution and convergence of the proposed method are proved in section 3. An example is presented in section 4 to illustrate the accuracy of this method.

[†]the corresponding author. Email addresses:shadan.behzadi@yahoo.com(Sh.S. Behzadi),ahmetyildirim80@gmail.com (A. Yildirim)

¹Department of Mathematics, Islamic Azad University, Central Tehran Branch, P.O.Box 13185.768, Tehran, Iran

²Department of Mathematics, Ege University, 35100 Bornova, zmir, Turkey

³Department of Mathematics and Statistics, University of South Florida, Tampa, FL 33620-5700.USA

To obtain the approximate solution of Eq.(1.1), by integrating three times from Eq.(1.1) with respect to x, t and using the fuzzy initial conditions we obtain

$$\begin{aligned} & \tilde{u}(x, t) \oplus (-1) \odot \tilde{F}(x, t) \oplus 2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}(x, t)) dt dx \\ & \oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}(x, t)) dt dx, \end{aligned} \quad (1.3)$$

where,

$$\begin{aligned} D^i(\tilde{u}(x, t)) &= \frac{\partial^i \tilde{u}(x, t)}{\partial x^i}, \quad i = 1, 2, 3, \\ \tilde{F}(x, t) &= \int_0^t \int_a^x (2xe^{x^2}, e^x, -e^{-x}) dx dt \oplus \int_0^t (2axe^{x^2}, ae^x, -ae^{-x}) dt, \\ F_1(u(x, t)) &= D(\tilde{u}(x, t)) \odot D^2(\tilde{u}(x, t)), \\ F_2(u(x, t)) &= \tilde{u}(x, t) \odot D^3(\tilde{u}(x, t)). \end{aligned}$$

In Eq.(1.3), we assume $\tilde{F}(x, t)$ is bounded for all t in $J = [0, T]$ and x in $[a, b]$ ($T, a, b \in \mathbb{R}$).

The terms $F_1(\tilde{u}(x, t)), F_2(\tilde{u}(x, t))$ are Lipschitz continuous with $\hat{D}(F_i(\tilde{u}), F_i(\tilde{u}^*)) \leq L_i \hat{D}(\tilde{u}, \tilde{u}^*)$ ($i = 1, 2$), where \hat{D} is the Hausdorff metric [7] and

$$\begin{aligned} |x - t| &\leq M, \\ \alpha &= T(b - a)M(2L_1 + L_2). \end{aligned}$$

2. Definitions

The basic definitions of a fuzzy number are given in [1, 4, 6, 7, 8, 12, 13, 14, 15] as follows:

Definition 2.1. A fuzzy number is a fuzzy set like $u : \mathbb{R} \rightarrow [0, 1]$ which satisfies:

1. u is an upper semi-continuous function
2. $u(x) = 0$ outside some interval $[a, d]$
3. There are real numbers b, c such as $a \leq b \leq c \leq d$ and
 - 3.1 $u(x)$ is a monotonic increasing function on $[a, b]$
 - 3.2 $u(x)$ is a monotonic decreasing function on $[c, d]$
 - 3.3 $u(x) = 1$ for all $x \in [b, c]$.

Definition 2.2. A fuzzy number u in parametric form is a pair (\underline{u}, \bar{u}) of functions $\underline{u}(r), \bar{u}(r), 0 \leq r \leq 1$, which satisfy the following requirements:

1. $\underline{u}(r)$ is a bounded non-decreasing left continuous function in $(0, 1]$, and right continuous at 0,
2. $\bar{u}(r)$ is a bounded non-increasing left continuous function in $(0, 1]$, and right continuous at 0,
3. $\underline{u}(r) \leq \bar{u}(r), 0 \leq r \leq 1$.

Definition 2.3. The membership function u is presented as

$$u(x) = \begin{cases} u_L(x) & \text{if } x \in [a, b] \\ 1 & \text{if } x \in [b, c] \\ u_R(x) & \text{if } x \in [c, d] \\ 0 & \text{otherwise} \end{cases} \quad (2.1)$$

where $u_L : [a, b] \rightarrow [0, 1]$ and $u_R : [c, d] \rightarrow [0, 1]$ are left and right membership functions of fuzzy number u . Another definition for a fuzzy number is as follows.

Definition 2.4. A fuzzy number \tilde{A} is of *LR*-type if there exist shape functions L (for left), R (for right) and scalar $\alpha \geq 0, \beta \geq 0$ with

$$\tilde{\mu}_A(x) = \begin{cases} L\left(\frac{a-x}{\alpha}\right) & x \leq a \\ R\left(\frac{x-b}{\beta}\right) & x \geq a \end{cases} \quad (2.2)$$

the mean value of \tilde{A} , a is a real number, and α, β are called the left and right spreads, respectively. \tilde{A} is denoted by (a, α, β) .

Definition 2.5. Let $\tilde{M} = (m, \alpha, \beta)_{LR}$ and $\tilde{N} = (n, \gamma, \delta)_{LR}$ and $\lambda \in \mathbb{R}^+$. Then,

$$\begin{aligned} (1) : \lambda \tilde{M} &= (\lambda m, \lambda \alpha, \lambda \beta)_{LR} \\ (2) : -\lambda \tilde{M} &= (-\lambda m, \lambda \beta, \lambda \alpha)_{LR} \\ (3) : \tilde{M} \oplus \tilde{N} &= (m + n, \alpha + \gamma, \beta + \delta)_{LR} \\ (4) : \tilde{M} \odot \tilde{N} &\simeq \begin{cases} (mn, m\gamma + n\alpha, m\delta + n\beta)_{LR} & \tilde{M}, \tilde{N} > 0 \\ (mn, n\alpha - m\delta, n\beta - m\gamma)_{LR} & \tilde{M} > 0, \tilde{N} < 0 \\ (mn, -n\beta - m\delta, -n\alpha - m\gamma)_{LR} & \tilde{M}, \tilde{N} < 0 \end{cases} \end{aligned} \quad (2.3)$$

Definition 2.6. For arbitrary fuzzy numbers $\tilde{u}, \tilde{v} \in E^1$, we use the distance (Hausdorff metric) [16]

$$D(u(r), v(r)) = \max\left\{ \sup_{r \in [0,1]} |\underline{u}(r) - \underline{v}(r)|, \sup_{r \in [0,1]} |\bar{u}(r) - \bar{v}(r)| \right\},$$

and it is shown [20] that (E^1, D) is a complete metric space and the following properties are well known:

$$\begin{aligned} D(\tilde{u} + \tilde{w}, \tilde{v} + \tilde{w}) &= D(\tilde{u}, \tilde{v}), \forall \tilde{u}, \tilde{v} \in E^1, \\ D(k\tilde{u}, k\tilde{v}) &= |k| D(\tilde{u}, \tilde{v}), \forall k \in \mathbb{R}, \tilde{u}, \tilde{v} \in E^1, \\ D(\tilde{u} + \tilde{v}, \tilde{w} + \tilde{e}) &\leq D(\tilde{u}, \tilde{w}) + D(\tilde{v}, \tilde{e}), \forall \tilde{u}, \tilde{v}, \tilde{w}, \tilde{e} \in E^1. \end{aligned}$$

Definition 2.7. A triangular fuzzy number is defined as a fuzzy set in E^1 , that is specified by an ordered triple $u = (a, b, c) \in \mathbb{R}^3$ with $a \leq b \leq c$ such that $[u]^r = [u_-^r, u_+^r]$ are the endpoints of r -level sets for all $r \in [0, 1]$, where $u_-^r = a + (b - a)r$ and $u_+^r = c - (c - b)r$. Here, $u_-^0 = a, u_+^0 = c, u_-^1 = u_+^1 = b$, which is denoted by u^1 . The set of triangular fuzzy numbers will be denoted by E^1 .

Definition 2.8. Consider $x, y \in E$. If there exists $z \in E$ such that $x = y + z$ then z is called the *H*- difference of x and y , and is denoted by $x \ominus y$. [7]

Definition 2.9. (see[7]) Let $f : (a, b) \rightarrow E$ and $x_0 \in (a, b)$. We say that f is generalized differentiable at x_0 (Bede-Gal differentiability), if there exists an element $f'(x_0) \in E$, such that:

i) for all $h > 0$ sufficiently small, $\exists f(x_0 + h) \ominus f(x_0), \exists f(x_0) \ominus f(x_0 - h)$ and the following limits hold:

$$\lim_{h \rightarrow 0} \frac{f(x_0 + h) \ominus f(x_0)}{h} = \lim_{h \rightarrow 0} \frac{f(x_0) \ominus f(x_0 - h)}{h} = f'(x_0)$$

or

ii) for all $h > 0$ sufficiently small, $\exists f(x_0) \ominus f(x_0 + h), \exists f(x_0 - h) \ominus f(x_0)$ and the following limits hold:

$$\lim_{h \rightarrow 0} \frac{f(x_0) \ominus f(x_0 + h)}{-h} = \lim_{h \rightarrow 0} \frac{f(x_0 - h) \ominus f(x_0)}{-h} = f'(x_0)$$

or

iii) for all $h > 0$ sufficiently small, $\exists f(x_0 + h) \ominus f(x_0), \exists f(x_0 - h) \ominus f(x_0)$ and the following limits hold:

$$\lim_{h \rightarrow 0} \frac{f(x_0 + h) \ominus f(x_0)}{h} = \lim_{h \rightarrow 0} \frac{f(x_0 - h) \ominus f(x_0)}{-h} = f'(x_0)$$

or

iv) for all $h > 0$ sufficiently small, $\exists f(x_0) \ominus f(x_0 + h), \exists f(x_0) \ominus f(x_0 - h)$ and the following limits hold:

$$\lim_{h \rightarrow 0} \frac{f(x_0) \ominus f(x_0 + h)}{-h} = \lim_{h \rightarrow 0} \frac{f(x_0) \ominus f(x_0 - h)}{h} = f'(x_0)$$

Definition 2.10. Let $f : (a, b) \rightarrow E$. We say f is (i)-differentiable on (a, b) if f is differentiable in the sense (i) of Definition (2.9) and similarly for (ii), (iii) and (iv) differentiability.

Definition 2.11. (see[15]) The mapping $f : T \rightarrow E^n$ for some interval T is called a fuzzy process. Therefore, its r -level set can be written as follows:

$$[f(t)]^r = [f_-^r(t), f_+^r(t)], \quad t \in T, \quad r \in [0, 1].$$

Definition 2.12. (see[15]) Let $f : T \rightarrow E^n$ be Hukuhara differentiable and denote $[f(t)]^r = [f_-^r, f_+^r]$. Then, the boundary function f_-^r and f_+^r are differentiable (or Seikkala differentiable) and

$$[f'(t)]^r = [(f_-^r)'(t), (f_+^r)'(t)], \quad t \in T, \quad r \in [0, 1].$$

2.1. Description of the HAM

Consider,

$$N[\tilde{u}] = 0.$$

Where N is a nonlinear operator, $\tilde{u}(x, t)$ is unknown function and x is an independent variable. let $\tilde{u}_0(x, t)$ denote an initial guess of the exact solution $\tilde{u}(x, t)$,

$h \neq 0$ an auxiliary parameter, $H_1(x, t) \neq 0$ an auxiliary function, and L an auxiliary linear operator with the property $L[s(x, t)] = 0$ when $s(x, t) = 0$. Then using $q \in [0, 1]$ as an embedding parameter, we construct a homotopy as follows:

$$\begin{aligned} & (1 - q)L[\tilde{\phi}(x, t; q) \oplus (-1) \odot \tilde{u}_0(x, t)] \oplus (-1)qhH_1(x, t) \odot N[\tilde{\phi}(x, t; q)] \\ & = \hat{H}[\tilde{\phi}(x, t; q); \tilde{u}_0(x, t), H_1(x, t), h, q]. \end{aligned} \quad (2.4)$$

It should be emphasized that we have great freedom to choose the initial guess $\tilde{u}_0(x, t)$, the auxiliary linear operator L , the non-zero auxiliary parameter h , and the auxiliary function $H_1(x, t)$.

Enforcing the homotopy (2.4) to be zero, i.e.

$$\hat{H}_1[\tilde{\phi}(x, t; q); \tilde{u}_0(x, t), H_1(x, t), h, q] = 0, \quad (2.5)$$

we have the so-called zero-order deformation equation

$$(1 - q)L[\tilde{\phi}(x, t; q) \oplus (-1) \odot \tilde{u}_0(x, t)] = qhH_1(x, t) \odot N[\tilde{\phi}(x, t; q)]. \quad (2.6)$$

When $q = 0$, the zero-order deformation Eq.(2.5) becomes

$$\tilde{\phi}(x; 0) = \tilde{u}_0(x, t), \quad (2.7)$$

and when $q = 1$, since $h \neq 0$ and $H_1(x, t) \neq 0$, the zero-order deformation Eq.(2.5) is equivalent to

$$\tilde{\phi}(x, t; 1) = \tilde{u}(x, t). \quad (2.8)$$

Thus, according to (2.7) and (2.8), as the embedding parameter q increases from 0 to 1, $\tilde{\phi}(x, t; q)$ varies continuously from the initial approximation $\tilde{u}_0(x, t)$ to the exact solution $\tilde{u}(x, t)$. Such a kind of continuous variation is called deformation in homotopy [2, 3, 5, 9, 10, 11, 18, 19].

Due to Taylor's theorem, $\tilde{\phi}(x, t; q)$ can be expanded in a power series of q as follows

$$\tilde{\phi}(x, t; q) = \tilde{u}_0(x, t) \oplus \sum_{m=1}^{\infty} \tilde{u}_m(x, t) \odot q^m, \quad (2.9)$$

where,

$$\tilde{u}_m(x, t) = \frac{1}{m!} \odot \frac{\partial^m \tilde{\phi}(x, t; q)}{\partial q^m} \Big|_{q=0}.$$

Let the initial guess $\tilde{u}_0(x, t)$, the auxiliary linear parameter L , the nonzero auxiliary parameter h and the auxiliary function $H_1(x, t)$ be properly chosen so that the power series (2.9) of $\tilde{\phi}(x, t; q)$ converges at $q = 1$, then, we have under these assumptions the solution series

$$\tilde{u}(x, t) = \tilde{\phi}(x, t; 1) = \tilde{u}_0(x, t) \oplus \sum_{m=1}^{\infty} \tilde{u}_m(x, t). \quad (2.10)$$

From Eq.(2.9), we can write Eq.(2.6) as follows

$$\begin{aligned}
& (1 - q) \odot L[\tilde{\phi}(x, t, q) \oplus (-1) \odot \tilde{u}_0(x, t)] \\
&= (1 - q) \odot L\left[\sum_{m=1}^{\infty} \tilde{u}_m(x, t) \odot q^m\right] \\
&= q h H_1(x, t) \odot N[\tilde{\phi}(x, t, q)] \tag{2.11} \\
&\Rightarrow L\left[\sum_{m=1}^{\infty} \tilde{u}_m(x, t) \odot q^m\right] - q \odot L\left[\sum_{m=1}^{\infty} \tilde{u}_m(x, t) \odot q^m\right] \\
&= q h H_1(x, t) \odot N[\tilde{\phi}(x, t, q)].
\end{aligned}$$

By differentiating (2.11) m times with respect to q , we obtain

$$\begin{aligned}
& \left\{L\left[\sum_{m=1}^{\infty} \tilde{u}_m(x, t) \odot q^m\right] \oplus (-1) \odot q \odot L\left[\sum_{m=1}^{\infty} \tilde{u}_m(x, t) \odot q^m\right]\right\}^{(m)} \\
&= \{q h H_1(x, t) \odot N[\tilde{\phi}(x, t, q)]\}^{(m)} \\
&= m! \odot L[\tilde{u}_m(x, t) \oplus (-1) \odot \tilde{u}_{m-1}(x, t)] \\
&= h H_1(x, t) m \odot \frac{\partial^{m-1} N[\tilde{\phi}(x, t, q)]}{\partial q^{m-1}} \Big|_{q=0}.
\end{aligned}$$

Therefore,

$$L[\tilde{u}_m(x, t) \oplus (-1) \odot \chi_m \tilde{u}_{m-1}(x, t)] = h H_1(x, t) \odot \mathfrak{R}_m(\tilde{u}_{m-1}(x, t)), \tag{2.12}$$

where,

$$\mathfrak{R}_m(\tilde{u}_{m-1}(x, t)) = \frac{1}{(m-1)!} \odot \frac{\partial^{m-1} N[\tilde{\phi}(x, t, q)]}{\partial q^{m-1}} \Big|_{q=0}, \tag{2.13}$$

and,

$$\chi_m = \begin{cases} 0 & m \leq 1, \\ 1 & m > 1. \end{cases}$$

Note that the high-order deformation Eq.(2.12) is governing the linear operator L , and the term $\mathfrak{R}_m(\tilde{u}_{m-1}(x, t))$ can be expressed simply by (2.13) for any nonlinear operator N .

To obtain the approximation solution of Eq.(1.3), according to HAM, let

$$\begin{aligned}
N[\tilde{u}(x, t)] &= \tilde{u}(x, t) \oplus (-1) \odot \tilde{F}(x, t) \\
&\oplus 2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}(x, t)) dt dx \\
&\oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}(x, t)) dt dx,
\end{aligned}$$

so,

$$\begin{aligned}
\mathfrak{R}_m(\tilde{u}_{m-1}(x, t)) &= \tilde{u}_{m-1}(x, t) \oplus (-1) \odot \tilde{F}(x, t) \\
&\oplus 2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}(x, t)) dt dx \\
&\oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}(x, t)) dt dx.
\end{aligned} \tag{2.14}$$

Substituting (2.14) into (2.12)

$$\begin{aligned}
&L[\tilde{u}_m(x, t) \oplus (-1) \odot \chi_m \tilde{u}_{m-1}(x, t)] \\
&= hH_1(x, t) \odot [\tilde{u}_{m-1}(x, t) \oplus 2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}(x, t)) dt dx \\
&\oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}(x, t)) dt dx \oplus (\chi_m - 1) \odot \tilde{F}(x, t)].
\end{aligned} \tag{2.15}$$

We take an initial guess $\tilde{u}_0(x, t) = -\tilde{F}(x, t)$, an auxiliary linear operator $L\tilde{u} = \tilde{u}$, a nonzero auxiliary parameter $h = -1$, and auxiliary function $H_1(x, t) = 1$. This is substituted into (2.15) to give the recurrence relation

$$\begin{aligned}
\tilde{u}_0(x, t) &= \tilde{F}(x, t) = \int_0^t \int_a^x (2xe^{x^2}, e^x, -e^{-x}) dx dt \\
&\oplus \int_0^t (2axe^{x^2}, ae^x, -ae^{-x}) dt, \\
\tilde{u}_{n+1}(x, t) &= 2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}_n(x, t)) dt dx \\
&\oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}_n(x, t)) dt dx, \quad n \geq 1.
\end{aligned} \tag{2.16}$$

3. Existence solution and convergence of HAM

Theorem 3.1. *Let $0 < \alpha < 1$, then equation (1.3), has a unique solution.*

Proof. Let \tilde{u} and \tilde{u}^* be two different solutions of (1.3) then

$$\begin{aligned}
D(\tilde{u}, \tilde{u}^*) &= D(\tilde{F}(x, t) \oplus (-2) \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}(x, t)) dt dx \\
&\oplus (-1) \odot \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}(x, t)) dt dx, \\
\tilde{F}(x, t) \oplus (-2) \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}^*(x, t)) dt dx \\
&\oplus (-1) \odot \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}^*(x, t)) dt dx \\
&\leq TM(b-a)(2L_1 + L_2) \hat{D}(\tilde{u}, \tilde{u}^*) = \alpha \hat{D}(\tilde{u}, \tilde{u}^*).
\end{aligned}$$

From which we get $(1 - \alpha)D(\tilde{u}, \tilde{u}^*) \leq 0$. Since $0 < \alpha < 1$, then $D(\tilde{u}, \tilde{u}^*) = 0$. Implies $\tilde{u} = \tilde{u}^*$ and completes the proof. \square

Theorem 3.2.

$$\begin{aligned} \phi_{k+1}(x, t) = & \tilde{F}(x, t) \oplus \sum_{i=1}^{k+1} [2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}_i(x, t)) dt dx \\ & \oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}_i(x, t)) dt dx], \quad k \geq 0. \end{aligned}$$

$$\begin{aligned} & D(\phi_{k+1}(x, t), \phi_k(x, t)) \\ = & D(\tilde{F}(x, t) \oplus \sum_{i=1}^{k+1} [2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}_i(x, t)) dt dx \\ & \oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}_i(x, t)) dt dx], \\ & \tilde{F}(x, t) \oplus \sum_{i=1}^{k+1} [2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}_{i-1}(x, t)) dt dx \\ & \oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}_{i-1}(x, t)) dt dx]) \\ = & D(\phi_k(x, t) \oplus 2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}_k(x, t)) dt dx \\ & \oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}_k(x, t)) dt dx, \phi_k(x, t)) \\ = & D(2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}_k(x, t)) dt dx \\ & \oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}_k(x, t)) dt dx, \tilde{0}) \\ \leq & D(\tilde{u}_k(x, t), \tilde{0}) \leq \alpha^k D(\tilde{F}, \tilde{0}) \\ \implies & D(\phi_{k+1}(x, t), \phi_k(x, t)) \leq \alpha^{k+1} D(\tilde{F}, \tilde{0}) \\ \implies & \sum_{k=0}^{\infty} D(\phi_{k+1}(x, t), \phi_k(x, t)) \leq \alpha^{k+1} D(\tilde{F}, \tilde{0}) \sum_{k=0}^{\infty} \alpha^k. \end{aligned}$$

4. Numerical example

In this section, we compute a numerical example which is solved by the HAM. The program has been provided with Mathematica 6.

Algorithm:

$$\begin{aligned} u_0 = \tilde{F}(x, t) = & \int_0^t \int_a^x (2xe^{x^2}, e^x, -e^{-x}) dx dt \oplus \int_0^t (2axe^{x^2}, ae^x, -ae^{-x}) dt \\ = & (f_{01}, f_{02}, f_{03}). \end{aligned}$$

For $i = 0, i \leq n, i++$, if $[D^2(f_{i1}) > 0$ and $D^2(f_{i3}) > 0$,

$$D(\tilde{u}_i(x, t)) = \left(\frac{\partial f_{i1}}{\partial x}, \frac{\partial f_{i2}}{\partial x}, \frac{\partial f_{i3}}{\partial x} \right), D(\tilde{u}_i(x, t)) = \left(\frac{\partial f_{i3}}{\partial x}, \frac{\partial f_{i2}}{\partial x}, \frac{\partial f_{i1}}{\partial x} \right);$$

$$\text{If } [D^4(f_{i1}) > 0 \text{ and } D^4(f_{i3}) > 0, D^2(\tilde{u}_i(x, t)) = \left(\frac{\partial^2 f_{i1}}{\partial x^2}, \frac{\partial^2 f_{i2}}{\partial x^2}, \frac{\partial^2 f_{i3}}{\partial x^2} \right),$$

$$D^2(\tilde{u}_i(x, t)) = \left(\frac{\partial^2 f_{i_3}}{\partial x^2}, \frac{\partial^2 f_{i_2}}{\partial x^2}, \frac{\partial^2 f_{i_1}}{\partial x^2}\right); F_1(u_i(x, t)) = D(\tilde{u}_i(x, t)) \odot D^2(\tilde{u}_i(x, t));$$

If $\left[\frac{\partial^5 f_{i_1}}{\partial x^5} > 0 \text{ and } \frac{\partial^5 f_{i_3}}{\partial x^5} > 0, D^3(\tilde{u}_i(x, t)) = \left(\frac{\partial^5 f_{i_1}}{\partial x^5}, \frac{\partial^5 f_{i_2}}{\partial x^5}, \frac{\partial^5 f_{i_3}}{\partial x^5}\right),\right.$

$$D^3(\tilde{u}_i(x, t)) = \left(\frac{\partial^5 f_{i_3}}{\partial x^5}, \frac{\partial^5 f_{i_2}}{\partial x^5}, \frac{\partial^5 f_{i_1}}{\partial x^5}\right); F_2(u(x, t)) = \tilde{u}(x, t) \odot D^3(\tilde{u}(x, t));$$

$$\tilde{u}_{i+1}(x, t) = 2 \odot \int_0^t \int_a^x (x-t) \odot F_1(\tilde{u}_i(x, t)) dt dx$$

$$\oplus \int_0^t \int_a^x (x-t) \odot F_2(\tilde{u}_i(x, t)) dt dx;$$

Example 4.1. Consider the fuzzy hunter-Saxeton equation as follows:

$$u_{txx} \oplus 2 \odot u_x \odot u_{xx} \oplus u \odot u_{xxx} = \tilde{0}.$$

Table 1 Numerical results for Example 4.1

x	App.Sol ($n = 3$)	Errors(\tilde{D})
0.01	0.0101130	0.00001253
0.02	0.0204544	0.00005032
0.05	0.0528836	0.00032007
0.1	0.1118610	0.00134369
0.12	0.1372840	0.00198486
0.15	0.1775160	0.00324104
0.2	0.2505650	0.00628427
0.25	0.3318580	0.01851500
0.3	0.4223900	0.01743260
0.35	0.5233110	0.02663750
0.4	0.6359360	0.03920560
0.45	0.7617640	0.05602370
0.5	0.9024930	0.07813260

Table 1 shows that, the approximation solution of the fuzzy Hunter-Saxeton equation is convergent with 3 iterations by using the HAM.

5. Conclusion

The HAM has been shown to solve effectively, easily and accurately a large class of nonlinear problems with the approximations which convergent are rapidly to exact solutions. In this work, the HAM has been successfully employed to obtain the approximate analytical solution of the fuzzy Hunter-Saxeton equation.

References

- [1] S. Abbasbandy and T. Allahviranloo, *Numerical solutions of fuzzy differential equations by taylor method*, Comput. Methods Appl. Math. 2 (2002) 113-124.
- [2] S.Abbasbandy, *Homptopy analysis method for generalized Benjamin-Bona-Mahony equation*, Zeitschrift fur angewandte Mathematik und Physik (ZAMP), 59(2008) 51-62.

- [3] S.Abbasbany, *Homptopy analysis method for the Kawahara equation*, Nonlinear Analysis: Real Wrorld Applications, 11(2010) 307-312.
- [4] T. Allahviranloo, N. Ahmady and E. Ahmady, *A method for solving n-th order fuzzy linear differential equations*, Comput. Math. Appl 86 (2009) 730-742.
- [5] M.A. Fariborzi Araghi and Sh.S. Behzadi, *Numerical solution of nonlinear Volterra-Fredholm integro-differential equations using Homotopy analysis method*, Journal of Applied Mathematics and Computing, DOI: 10.1080/00207161003770394.
- [6] B. Bede, *Note on Numerical solutions of fuzzy differential equations by predictorcorrector method*, Inform. Sci. 178 (2008) 1917-1922.
- [7] B. Bede and S.G. Gal, *Generalizations of the differentiability of fuzzy number valued functions with applications to fuzzy differential equation*, Fuzzy Set.Syst. 151 (2005) 581-599.
- [8] B. Bede, J. Imre, C. Rudas and L. Attila, *First order linear fuzzy differential equations under generalized differentiability*, Inform. Sci. 177 (2007) 3627-3635.
- [9] Sh.S.Behzadi, *The convergence of homotopy methods for nonlinear Klein-Gordon equation*, J.Appl.Math.Informatics, 28(2010)1227-1237.
- [10] Sh.S.Behzadi and M.A.Fariborzi Araghi, *The use of iterative methods for solving Naveir-Stokes equation*, J.Appl.Math.Informatics, 29(2011) 1-15.
- [11] Sh.S. Behzadi and M.A. Fariborzi Araghi, *Numerical solution for solving Burger's-Fisher equation by using Iterative Methods*, Mathematical and Computational Applications , In Press, 2011.
- [12] J.J. Buckley and T. Feuring, *Fuzzy differential equations*, Fuzzy Set. Syst. 110 (2000) 43-54.
- [13] J.J. Buckley, T. Feuring and Y. Hayashi, *Linear systems of first order ordinary differential equations: fuzzy initial conditions*, Soft Comput. 6 (2002) 415-421.
- [14] J.J. Buckley, L.J. Jowers, *Simulating Continuous Fuzzy Systems*, Springer-Verlag, Berlin Heidelberg, 2006.
- [15] Y. Chalco-Cano and H. Romn-Flores, *On new solutions of fuzzy differential equations*, Chaos Soliton. Fractals (2006) 1016-1043.
- [16] R. Goetschel and W. Voxman, *Elementary calculus. Fuzzy Sets Systems*, 18 (1986) 31-43.
- [17] A.Khastan, J.J. Nieto and R. Rodriguez -Lopez, *Variation of constant formula for first order fuzzy differential equations*, Fuzzy Sets and Systems, In press,2011.
- [18] S.J.Liao , *Beyond Perturbation: Introduction to the Homotopy Analysis Method*, Chapman and Hall/CRC Press,Boca Raton,2003.
- [19] S.J.Liao , *Notes on the homotopy analysis method: some definitions and theorems*, Communication in Nonlinear Science and Numerical Simulation 14(2009)983-997.
- [20] M.L. Puri and D. Ralescu, *Fuzzy random variables*, J. Math. Anal. Appl, 114 (1986) 409-422.